7/4/2019 MAKITA SERVICE INFORMATION

Model No.UM140D CORDLESS GRASS TRIMMER

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html 1/4



7/4/2019 MAKITA SERVICE INFORMATION

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html 2/4



7/4/2019

MAKITA SERVICE INFORMATION

Model No.UM140D CORDLESS GRASS TRIMMER

Item Parts No. Description I/C Qty |New/Old| Opt.1 Opt. 2 Note
001 857618-6 NAME PLATE UM140D 1
002 251880-9 SCREW M5X33 1
003 265871-4 TAPPING SCREW BT 4X16 6
004 182684-7 HANDLE SET 1

D10 INC. 8
005 655409-7 INLET 1
006 231457-6 COMPRESSION SPRING 3 1
007 415674-8 LOCK OFF BUTTON 1
008 1826847 HANDLE SET 1

D10 INC. 4
009 819063-3 MAKITA LABEL 1
010 252042-2 SQUARE NUT M5 1
011 415358-8 SIDE HANDLE 1
012 415580-7 SWITCH LEVER 1
013 651866-7 SWITCH V-5130E-092 1 *
013-1 651944-3 SWITCH DMC-1115-13 ¢} 1
014 262058-9 P.P RING 17 1
015 667972-8 I;).(ggNER SUPPLY CORD #18-2- 1
016 154414-6 PIPE COMPLETE 1

C10 |951166-8 SPRING PIN 5-24 1
017 911243-8 PAN HEAD SCREW M5X25 1
018 931202-6 HEX. NUT M5 2
019 251878-6 SCREW M5X20 1
020 182685-5 MOTOR HOUSING SET 1

D10 INC. 23
021 629673-6 DC MOTOR 12V 1

C10 |322697-8 SHAFT 1
022 213556-6 O RING 42 1
023 182685-5 MOTOR HOUSING SET 1

D10 INC. 20
024 265871-4 TAPPING SCREW BT 4X16 4
025 911124-6 PAN HEAD SCREW M4X14 1
026 150518-2 SAFETY COVER 1

C10 |810786-6 INDICATION LABEL 1
027 931102-0 HEX. NUT M4 1
028 154415-4 BLADE HOLDER COMPLETE 1
029 415542-5 RETAINER 1
030 415545-9 BEARING BOX 1
031 253865-1 FLAT WASHER 8 1
032 210005-4 BALL BEARING 608DDW 1
033 251459-6 - FLAT HEAD SCREW M5X10 1
034 415544-1 CAP 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html

Print Date 4/7/2019

3/4



7/4/2019

MAKITA SERVICE INFORMATION

Model No.UM140D CORDLESS GRASS TRIMMER

Item Parts No. Description I/C Qty |New/Old| Opt.1 Opt. 2 Note
035 265966-3 TAPPING SCREW BT 3X10 2
036 253948-7 WAVE WASHER 8 1
037 267135-2 FLAT WASHER 8 1
A01 192441-5 PLASTIC BLADE 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swf/print.html

Print Date 4/7/2019

4/4



